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Question 3: (1 points)

A group of 430 randomly selected Democrats was asked whether or not they would still support the "National Freedom to Vote Act” passed in 1978 by a Republican congress, 348 said
they would still support it: When a group of 360 randomly selected Democrats were asked the same question, but told that the NFVA was passed by a Democratic congress, 305 stated
they would still support it (although there is no such act).

With a 92% level of confidence, test the claim that the proportion of those who would still support this act if it was passed by a Republican congress is equal to the proportion of those
who would still support it if was passed by a Democratic congress.

Which of the following null and alternate hypotheses best fit this test?
(Click For List) v

Critical Value =

Test Statistic =

What is the best conclusion for this test:
(Click For List
Click For

We fail to reject the null hypothesis. therefore the two proportions are not likely to be equal

We reject the null hypothesis, therefore the two proportions are likely to be equal

We reject the null hypothesis, therefore the two proportions are not likely to be equal

We fail to reject the null hypothesis. therefore the two proportions are likely to be equal





image7.png
] Maple . - Unit 3 Test - Google Chrome 7 S0 N S e S LS S TS, o o B et

[ place21.placementtester.com:8080/mapleta/modules/unproctoredTest.QuestionSheet

STA2023 195783 STATISTICS WP Shivaughn
Unit 5 Test Mitchell-Hanna
Back Next Question Menu Grade Help Quit & Save
Queston 4 0f 10

Remaining Time (hh:mm:ss): 01:56:57

Question 4: (1 points)

In randomized, double-blind clinical trials of a new vaccine, subjects were randomly divided into two groups. The subjects in group 1received the new vaccine while the subjects in group
2 received a control vaccine. After the first dose, 276 out of 460 subjects in the experimental group (group 1) experienced vomiting as a side effect. After the first dose, 199 out of 410 in
the control group (group 2) experienced vomiting as a side effect. Construct a 99% confidence interval for the difference between two proportions, s - p;.

<P1-p2 <
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Question 5: (1 points)
Salary data was collected from the annual salaries of randomly selected teachers in two separate school districts as shown below.

The Springfield Unified School District:
[34700.0, 29100.0, 31900.0, 34400.0, 29000.0, 29500.0, 32500.0, 36900.0, 36900.0, 36700.0, 37200.0, 34300.0, 30900.0, 30600.0, 36000.0, 36200.0]

The City of Quahog School District:

[43800.0, 34500.0, 35500.0, 30100.0, 35600.0, 36200.0, 36600.0, 36400.0, 39400.0, 32900.0, 34600.0, 33900.0, 36000.0, 36200.0, 38600.0, 31500.0, 39300.0]

At the 0.01 level of significance, test the claim that mean salary of teachers in both cities are equal. Do not assume that the population standard deviations are equal. All salaries are

measured in annual dollar amounts.

Critical Value = (use only the positive value)
Test Statistic = (use only the positive value).
Conclusion:

[(Click For List) v
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Question 5: (1 points)

Salary data was collected from the annual salaries of randomly selected teachers in two separate school districts as shown below.

The Springfield Unified School District:
[34700.0, 29100.0, 31900.0, 34400.0, 29000.0, 29500.0, 32500.0, 36900.0, 36900.0, 36700.0, 37200.0, 34300.0, 30900.0, 30600.0, 36000.0, 36200.0]

The City of Quahog School District:

[43800.0, 34500.0, 35500.0, 30100.0, 35600.0, 36200.0, 36600.0, 36400.0, 39400.0, 32900.0, 34600.0, 33900.0, 36000.0, 36200.0, 38600.0, 31500.0, 39300.0]

At the 0.01 level of significance, test the claim that mean salary of teachers in both cities are equal. Do not assume that the population standard deviations are equal. All salaries are

measured in annual dollar amounts.

Critical Value =

We reject the null hypothes

therefore

We failed to reject the null hypothesis, therefore it is not likely that the mean teacher salaries from the two districts are equal
J We failed to reject the nul hypothesis, therefore it s lkely that the mean teacher salaries from both districts are equal
We reject the null hypothesis, therefore it is not likely that the mean teacher salaries from the two districts are equal.

(use only the positive value)

ely that the mean teacher salaries from the two districts are equal

(Click For List)
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Question 6: (1 points)
Randomly selected high school senior grade point average data was collected from two separate school districts as shown below.

The Springfield Unified School District:
[3.7,3.4,352, 362,331,361, 361, 3.63, 3.4, 3.7, 3.65, 3.57, 3.35, 3.54]

The City of Quahog School District:
[3.47,3.48,3.72, 3.8, 3.69, 3.6, 3.43, 3.6, 3.48, 3.9, 3.42, 3.59, 3.58, 3.86, 3.51]

Atthe 0.01 level of significance, test the claim that mean of seniors' grade point averages in The City of Quahog School District is greater than the mean of seniors' grade point averages

in The Springfield Unified School District. Do not assume that the population standard deviations are equal

Critical Value = (use only the positive value)
Test Statistic = (use only the positive value)
Conclusion:

[(Click For List) v
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Question 6: (1 points)
Randomly selected high school senior grade point average data was collected from two separate school districts as shown below.

The Springfield Unified School District:
[3.7,3.4,352, 362,331,361, 361, 3.63, 3.4, 3.7, 3.65, 3.57, 3.35, 3.54]

The City of Quahog School District:
[3.47,3.48,3.72, 3.8, 3.69, 3.6, 3.43, 3.6, 3.48, 3.9, 3.42, 3.59, 3.58, 3.86, 3.51]

Atthe 0.01 level of significance, test the claim that mean of seniors' grade point averages in The City of Quahog School District is greater than the mean of seniors' grade point averages

in The Springfield Unified School District. Do not assume that the population standard deviations are equal

Critical Value = (use only the positive value)

We failed to reject the null hypothesis. thereft ikely that the mean teacher salaries from both districts are equal
We reject the null hypothesis, therefore it is not likely that the mean teacher salaries from the two districts are equal
J We reject the null hypothesis, therefore it islikely that the mean teacher salaries from the two districts are equal
We failed to reject the null hypothesis, therefore it is not likely that the mean teacher salaries from the two districts are equal

(Click For List) v
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Question 7: (1 points)
For a sample of 8 high school seniors, education researchers recorded their grade point averages and compared them to their S.A.T. scores. It was determined that the value of the
linear correlation coefficient was -0.62. Using a 0.01 level of significance, determine if there is a linear correlation between the two values. What proportion of the variation can be

explained by the linear relationship between grade point average and SAT. scores?

a.Is there a linear correlation between grade point average and S.AT scores?
(Click For List)

b. What proportion of the variation can be explained by the linear relationship between grade point average and S.A.T. scores?
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Question 7: (1 points)
For a sample of 8 high school seniors, education researchers recorded their grade point averages and compared them to their S.A.T. scores. It was determined that the value of the
linear correlation coefficient was -0.62. Using a 0.01 level of significance, determine if there is a linear correlation between the two values. What proportion of the variation can be
explained by the linear relationship between grade point average and S.A.T. scores?

a.Is there a linear correlation between grade point average and S.A.T scores?
(Click For List)

‘because the absolute value of the test statistic is greater than the the criical value.
because the absolute value of the test statistic is not greater than the the critical value.
No, because the absolute value of the test statistic is greater than the the critical value.

No. because the absolute value of the test statistic is not greater than the the critical value.

/een grade point average and SAT. scores?
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Question 8: (1 points)

For a sample of high school seniors, education researchers recorded their grade point averages and compared them to their S.A.T. scores as shown in the table below. Determine the
value of the linear correlation coefficient "r" and the critical value. Using a 0.05 level of significance, determine if there is a linear correlation between the two values. What proportion of
the variation can be explained by the linear relationship between grade point average and S.A.T. scores?

PR 563 [26 [353 [23 |37 |35 280 [263 |35 360|256 286 [asé 366 [28 [215 33t
AT score Bo2 [6s7 | 1137 |53 |61 |7o4 716 |mes [ 1o13 |6s4 |400 |53 |se0 | ioe3 | 633 a3 [ 1013
ar=

b_ Critical value =

c. Is there a linear correlation between grade point average and S.A.T scores?
(Click For List) v

d. What proportion of the variation can be explained by the linear relationship between grade point average and S.AT. scores?
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Question 8: (1 points)
For a sample of high school seniors, education researchers recorded their grade point averages and compared them to their S.A.T. scores as shown in the table below. Determine the
value of the linear correlation coefficient "r" and the critical value. Using a 0.05 level of significance, determine if there is a linear correlation between the two values. What proportion of

the variation can be explained by the linear relationship between grade point average and S.A.T. scores?

S57_ 360 J288 286 [3s4 [ae6 [28  [2i5 33t
FE0 | 7283 |33 438 [ 1013

PR 563 [26 [25 [23 a7 J35 280 [28:
AT score Bo2 |57 | 1137 |53 611 |7e4 716 |ses | 7213|654 |4o0 535

ar=

b_ Critical value =

c. Is there a linear correlation between grade point average and S.A T scores?
(Click For List) v

Yes. because the absolute value of the test stafstic s not greater than the the criical value.
Yes, because the absolute value of the test statistic is greater than the the critical value. /een grade point average and SAT. scores?
No, because the absolute value of the test statistic is not greater than the the critcal value.

1

No. because the absolute value of the test statistic is greater than the the critical value.

.
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Question 9: (1 points)

For a sample of randomly selected households, the household income and household unsecured debt are shown in the table below. Assuming there is a linear correlation, determine
the slope and y-intercept of the equation of the line of best fit (the regression line).

For a household income of $90,000, predict what the household unsecured debt might be.

[NCOME 208000 [ 16000 [72500_[58500 [ 116500 [174000 [70500 135000 [74000_[110000 [199000 [F5500 705000 [104000 [170000
[Debt ;2554 |poce0 [14sss [1a310 o175 [p3sa0 [13740 [ps0s0 |3500 [po4s0_[s0780 [13380 0210 |pi520 [p14s0

Equation of the regression line type the y-intercept frst, then type the slope (round to the ten-thousandths place). If a value is negative, then type in the negative value:

g = + X

For a household income of $90,000, predict what the household unsecured debt might be:
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Question 10: (1 points)

The Stress in General Scale (SIGS), is an actual psychometric measure of how much stress one feels. A sample of randomly selected workers from a software company were analyzed
to determine their stress levels according to the SIGS instrument (measured in a scale from 0 to 3). The study also looked at the production levels of each worker in the sample and
converted it to a standardized score called the production level score (measured in a scale from 0 to 10). The results are shown in the table below. Assuming there is a linear correlation,
determine the slope and y-intercept of the equation of the line of best fit (the regression line) for this data

For a worker whose SIGS measurement is 2.22, predict the production level score

S PRI S P P N X T A T N P (N e (I (3 P (R
[Producton evelr 53 r23 [o.r1 305 ooz Jeds Jiee oa7 o7 edc 73 a7 Jres Jpee s 7o Jese Jree

Equation of the regression line type the y-intercept frst, then type the slope (round to the ten-thousandths place). If a value is negative, then type in the negative value:

= + X

For a worker whose SIGS measurement is 2.22, predict the production level score:
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White 45%
African American 19%
Hispanic 26% m
Asian 8%
Other 2%

XYZ Corporation conducts a census of its own employees and determines that 82 are white, 21 are African American, 36 are hispanic, 20 are Asian, and 4 identified

as other.

At the 0.05 level of significance, test the hypothesis that the demographics of the employees at XYZ Corporation is a good fit with the general population of its

metropolitan area.

Critical Value =

Test Statistic =

Conclusion:

[(Click For List)
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White 45%
African American 19%
Hispanic 26% m
Asian 8%
Other 2%

XYZ Corporation conducts a census of its own employees and determines that 82 are white, 21 are African American, 36 are hispanic, 20 are Asian, and 4 identified

as other.

At the 0.05 level of significance, test the hypothesis that the demographics of the employees at XYZ Corporation is a good fit with the general population of its

metropolitan area.

Critical Value =

(Click For List)
| We faled to reject the nul hypothesis, therefore XYZ's anpluyee dsnogamcs are a good fit with the local population.
We falled to rfect he are not a good fit with the local population.

i
(Click For List) v
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Question 2: (1 points)
In a blind study for a new drug that is supposed to alleviate symptoms caused by gastritis the participants were split into two groups. The "Treatment Group" was giving the actual drug
while the "Placebo Group" was given a fake drug. In the table below, "n" represents the total number of partcipants for each group and "x" represents those that reported that their
symptoms were reduced significantly.

With a 95% level of confidence, test the claim that the proportion of those in the treatment group that reported a reduction in symptoms was greater than the proportion in the placebo
group

Treatment Group | Placebo Group

410 n=370
=168 x =145

Which of the following null and alternate hypotheses best fit this test?
(Click For List) v

Critical Value =

Test Statistic = B

What is the best conclusion for this test: -
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Question 2: (1 points) -

In a blind study for a new drug that is supposed to alleviate symptoms caused by gastritis the participants were splitinto two groups. The "Treatment Group” was giving the actual drug
while the "Placebo Group" was given a fake drug. In the table below, "n" represents the total number of partcipants for each group and "x" represents those that reported that their
symptoms were reduced significantly.

With a 95% level of confidence, test the claim that the proportion of those in the treatment group that reported a reduction in symptoms was greater than the proportion in the placebo
group

Treatment Group | Placebo Group

410 n=370
x=168 x=145

Which of the following null and alternate hypotheses best fit this test?
(Click For List) v

Critical Value =

We fail to reject the null hypothesis, thus we can conclude that the medicine seems to work better than the placebo

We reject the null hypothesis, thus we can conclude that the medicine seems to work better than the placebo

We fail to reject the null hypothesis, thus we cannot conclude that the medicine seems to work better than the placebo
We reject the null hypothesis, thus we cannot conclude that the medicine seems to work better than the placebo

(Click For List) v
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Question 3: (1 points)

A group of 430 randomly selected Democrats was asked whether or not they would still support the "National Freedom to Vote Act” passed in 1978 by a Republican congress, 348 said
they would still support it: When a group of 360 randomly selected Democrats were asked the same question, but told that the NFVA was passed by a Democratic congress, 305 stated
they would still support it (although there is no such act).

With a 92% level of confidence, test the claim that the proportion of those who would still support this act if it was passed by a Republican congress is equal to the proportion of those
who would still support it if was passed by a Democratic congress.

Which of the following null and alternate hypotheses best fit this test?
(Click For List) v

Critical Value =

Test Statistic =

What is the best conclusion for this test:
[(Click For List) v





